
 

 

 Classwork # 9.    November 17, 2018 

 

1. Calculate: 
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Solve equations by substitution:  

Example:  (𝑦 + 5)3 = 7 

𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑖𝑜𝑛: 𝑦 + 5 = 𝑧 

𝑧 ÷ 3 = 7 

𝑧 = 7 × 3 = 21 

𝑦 + 5 = 21 

𝑦 = 21 − 5 = 16     Check: (16 + 5) ÷ 3 = 7 

𝑎) (𝑥 − 12) × 8 = 56                                                 𝑏)124 ÷ (𝑦 − 5) = 31 

 

   

 

2. In a zoo there are birds (they have 2 legs each) and mammals with 4 legs 

each. How many birds and mammals are in the zoo, if they have 6000 legs 

and 2500 heads altogether? (use substitution) 

 

 

 

 

 

 

 



 

 

Geometry: 

 

Find the missing angles 

 

 

 

 

 

 

 

 

 

 

 

 

 

How to construct a triangle with sides equal to three line segments: 

 

 

 

 

 

 

 



 

 

For the given triangles make the correct fit of angles and sides.    

a) 15cm, 10cm, 8cm                  b) 44°,70°, ?                               c) 35°, 65°, ? 

 

 

 

 

 

 

 

 

Find x 
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